Yavir =
T NOEBR E (A R H )
T F 4 W KERAF ST 5% S U 5 A LR AR B B H 5 Ze ek i T
T F % P FE sk o— 1 B A 1ERT
T A TEHEZKFE B Do f4E2H1THET
T F # = KBRS 2o gl R e T —=\
THEHENRE
4 B & H 7 (1) i
[ R B B & % % K]
I . HE#% 1T %% 1 iy 19,398,650
Im. 3 ik &% & 1 = 1,433,980
m . 55 % 8 & 1 iy 3,517,175
[V A<M EEF K]
I . HE#% 1T 5% 1 iy 21,045,330
o, 3t % & 1 =X 1,489,378
o E & 1 =X 3,689,622
V. — %% PR 2% 1 =X 6,563,865
T & i % 57,138,000
T & il 56,858,000




£ PR &= B 4 (M) firg

[ R B S S5
1. MBI T F B R T 5 Te) 1 = 15,715,770
2. ExElE L 1 = 3,682,880

At 19,398,650
[V A<D B 25 2% )
1. MBI T F B G T H 5 1) 1 = 17,244,510
2. EXElE L 1 = 3,800,820

At 21,045,330




BhEx R L9 H PR

4 i & HANL & %A i
PR i L2
(R B REBE 25 T 5F) 1 15, 715, 770
(R BRRF ST 55 55 B 8 5 2 4%%) A

At

15, 715, 770




Ptk i T3 BB BINGER

PR T (B RS EOR 22 Rk i 9 KBRS SIS 4 4%)

2

4 P ¥ B HAL #

REEBEY (1)
1 15,715,770

15, 715, 770




PRkl T3 PR EBINER
PR Lo (R EERBEEOR 22 iR T4 ORBRIRF LIRS IR S 1K)
BB A W BB A W o ow® OB & #
IKTFAEBELES (1B BB
1 8, 454, 700
K
IKTFRBERES (1B L i
1 4,710, 730
e
IRTFOEBELES (1B 79 2 el
1 722, 400
K
IKTFRBERES (1B T H
1 516, 910
e
IRTFOEBELES (1B EHEIGR T
1 1,311, 000
K
15, 715, 770




BhEx R L9 H PR

4 i & HANL & %A i
PR i L2
(R B REBE 25 T 5F) 1 17, 244, 510
(RBAFSE Y A< D FHEE i % 52A%) A

At

17, 244, 510




Ptk i T3 BB BINGER

PR T3 (SRR EOR 22RO T35 CRBRSZ Y A< 5 IR i 3 410

2

4 P ¥ B HAL #

REEBEY (1580
1 17, 244, 510

17, 244, 510




PRkl T3 PR EBINER
PR Lo (REERBER 2R L9  (ORBRIRNL Y A< D AR @A)
BB A W BB A W o ow® OB & #
IKTFOEBELES (1560 BB
1 9,324, 700
K
IKTFRBERES (1560 L i
1 5,533,810
e
IKTFOEBELES (1560 WAL W0 A A i
1 224, 200
K
IKTFRBERES (1560 T H
1 546, 800
e
IKTFOEBELES (1560 EHEIGR T
1 1, 615, 000
K
17, 244, 510




